
 

 

MODEL ANSWERS  للدوام الصببحي  
 

I. Each item is allotted 6 marks except 4 and 5 each is allotted 5 marks. (Overlook copying mistakes) 

1. Because it plays a vital part in controlling the world's climate by taking in carbon dioxide and releasing oxygen.  

2. It refers to rainforest.  

3. 180 different tribes.  

4. export  

5. consumption  

6. Ranchers clear the land for their cattle.  

7. Soya beans are good for animal and human consumption. 
 

II. Each item is allotted 6 marks. (8-11 Overlook copying mistakes. 12-13 Overlook grammar mistakes) 

8. maintain                                                       9. few  

10. domestic                                                    11. purification  

12. sleep / exercise                                          13. The means for a human to live for few hours (such as oxygen).  

 

III. Each item is allotted 6 marks. N.B. No.14 If the student writes (is) his answer rates 4 marks.  

14. the                                              15. be                               16. on 
 

IV. Each item is allotted 6 marks. (Overlook copying mistakes and capitalization) 

17. against                        18. suffered                          19. might                      20. slow 
 

V. Each item is allotted 8 marks. (Deduct 2 marks for wrong question word and 2 marks for grammar mistake). 

21. When will the meeting be held ? What will be held next week?  

22. Who are going to attend it?  

23. What is the meeting about?  

24. Any logical answers are accepted? 
 

VI. Each item is allotted 8 marks.  

25. I wish (it) the city centre wasn't busy./ I wish it wouldn't be busy.  

26. This office was built by our company in 2010.  ( Without by our company omit 2 marks)  

27. I wish people wouldn't (didn't) drive so/too fast in the city centre.  

28. Efforts have been made to save endangered species in Syria. 
 

VII. Each item is allotted 7 marks. Deduct 4 marks if 29 (past simple).  

29. Present simple / future simple.  

30. Past simple/ 

 

VIII. Each item is allotted 6 marks. (Overlook copying mistakes) 

31. on                                              32. majority                       33. undercooked 

 

IX-  Each correct answer is allotted 6 marks. 

34. has written  

35. arrived  

36. hadn't seen 

 

X-The statement is divided into two units. Each unit is allotted 5 mark. Each unit is treated separately. 

 يحتبج النبس أن يكىنىا نظيفين في الفضبء ليبقىا اصحبء و يجتنبىا انتشبر الجراثين      .37
 

The statement is divided into two units. Each unit is allotted 4 marks. Each unit is treated separately.  

38. We have to teach/educate our children how to preserve the environment. 
 

COMPOSITION: 50 marks. Deduct one mark for each spelling or grammar mistake.  


